ERERHFHEBE 2021—2022 FEEE _FHE =% (—)

N A AN
3 = 2022. 4

ALES 6 51,150 73 FIAWHK 120 704h. A 55 o fg 2 R R b1
KA PAEE IR, g G B A UE A R —If 2g il

F—aBsy CEFEE 3t 40 )

—EFESLL 10 M, BNE 4 53,2405, EENEIHIONEDP,EHFE

(OEMESG A={z|lz=—1},.B={x||z—1|<2} ., M| AUB=

(A {x] —1<<x<3} (B){x|a>—1}

(O {x| —1<<x<<3} (D) {zx|x=—1}
(2) N o R B, e OIS A R A2

(A)y=Inx (B)y—e’

(O y=2z" (D)y:%

OEHMER 2 R iz=2+1. 0 = (K
(A)2 (B)—2 O)1 (D)—1

(DO EHES) (@, ) IRT n BA S, =n" W {a,} &

(A)RNZEN 2 1955221 (B)AN2E°h 3 5225051
O R 2 595 ) (D) HE S 3 Y45 H 803
(e Sina:%,}n\ﬂ sin(mt—2a) - tana=
32 32 18 18
(A)% (B)—% (C)% (D)—%

ZHF B 1 GE6 )
el b B R B A ,HRIE 2 R IORL 4 4T 15

W



(6) E%ﬂﬂfﬁﬁ: ABCD*A1Blc1D1 E/‘J@%J&y‘:’ 1,E ﬂ‘jBC J:ﬂ,'?\ ,UIUE*Z-E%E B1*AC1E
HRENAP)

1 1 W1 1
(AN~ (B)— (O (D)
(DAETEARD L — 44 24 DS F S AU 2022 AL RS PR IEIESL R

3 QR A DU 0 A {8 3 i e b S A T e AR L SRR s N 24 A
AP BEPLIER 3 DA A SN E BT A X 3 AT R A A L F TR N

3 1 W 2 1
(A)ﬁ (B)§ (L)% (D)ﬁ

O EH a,bERN“a”+ 07 <27 F" —1<<ab<1")

(A FEAT A 551 (B) Wh BT AN 7843 554
(O) 7857 BS54 (D) BEA 7843 A 0 22 2514

(O FEF- 10 B A AR R P R y=ka Tm (k005 « BAL v 4l 20 5052 T A B AT
|AB|=2/2 . CA_LCB. W4 k,m AL, 5 C 855 (1, 1) B BEES A9 B K H A
(A)4/2 (B)3/2 (022 (D)2

A0 FEW IR W /NRIFAELRME T AH 500 BRI H M. &k X5 P AR

A=A " H kA EE CH/NEF R & 10 KJGAH2 0004 H F s
WA Bt 50 000 44 2/ 2830 19 KA K
(ABHL 1g2=0. 30)

(A)31 (B)32 (C)33 (D)34

Ik
n
e
%
Ei
o
=
K
>
=

REA R R L E TS o RBCE 2 U OB R (S R



SRS Rk 3L 110 70

:\iﬁg‘é%ﬁ# 5 Ij\i@!ﬁlj\?@ 5 ﬁ!/\ 25 ﬁo

ADE@C—/o" RAP wEmsy L HEeES D

(12) & 401 1] 4 AB. CDTE IE J7 & I A% o 9 32 8 4 181 5. 45 Mg b / B
NEFMK N 1LWAB - CD= . Ca

A ERAPL C.y* =2px i 5d P2, p= 558K QUL ) R,y 1 C |,

F 2 Cfasi- BIPEL |QF[ L [RE| S LB U 1=

Je“'—/ex, x=0,
)_

(1) B HREL f(o) = k=0, MIANEX f(2)<<2 WfREN ;

Ikxz—x+1,x<0.
o SO AP S 2 B HBUE S R .
(15) Bt 22 A JF e “ I &2 08 /A v B 19 25 5 5K BR T 9.

e 1R & B AB R i . C. DL E g =4 n] ‘ ‘
HEVE BRI i A, 5 B, C £ — /K F N, CD 5
JKSF T L. BE s T RE TE A M AR R e R R R T R

MU 7S 4 LA &= ook 86 = 4 47 ) &=, D0 mT DA wE B R L el &Y g S
A AHRTEER MR

DC. D 5 45 1 B B 4

OC. E 15 4 K B 5

D1 A C WIAA WA E
B by

Db 5 D W A 10 \/

O ACE ¥/ AEC;

©_ADE #1/AED.

ek
n
e
%
Ei
w
=
i
>
=

REA R R L E TS o REUE ZBUE R R HER TS B



S BEIHEXNE, K8 55, BENSHXFHA, RESRIERTE,
(16) (A/NT 13 53)
CHIEE R /() = asinwxcoswr (a™>0,0>>0). T 51 P4~ 544 v 2 5 954 1 K
B fifi bR R £ o) 77 7E L IE— T .
CIOR fCo mfgtr=;
(1D g(a) = f(x) —2cos’wx 41, 3K pREL g (o) 7E (0 m0) b Y B 3] 328 14 X [i]

%‘Sﬁ:® :f(%) =1;

FMQ: £ R R

ZMUEQ: f(O) IR KRIE ] 15

M@ - f (o) VG2 04 AH S8 T 2% % ik A 22 [ E’JEE%%J%.

Ei A REFOFHRFEEZR FDFF 023w REFZAFEZ K FAF

G A B — AR 5

(17) (/NG 14 40

E L7 =mtt ABC—A,B,C, h,AA, | V-1 ABC,AB | AC,AB=AC=AA =1,
M N2 AC |— 5.
(I)3RiE:BM | AB;;

(&L AB, 5 BCM Jit i £ ﬁgwﬂ A, |- BCM i 8.

A, M

Ci

ek
n
e
%
Ei
=
=
K
>
=

REA R R L E TS o RBCE 2 U OB R (S R



(18) (A/INEL 13 43)
WA Z 1 2020 4R N DS A AU RS AR il 15 2 R A ERAEAND RS MZHE
FEEE N ERT o5 Fe 9] CRE A 21 0. 01 TR 3 s

ZHERE . .
- . e - K | ke | OBE | W
Kb | o = ‘ \ N N
4 51 LR ARE | FRA | FRAE
5 0. 00 0.03 0.14 0.11 0.07 0.11 0.03 0.01
© 0.01 0. 04 0.11 0.11 0.08 0.12 0.03 0. 00
A1t 0.01 0.07 0.25 0.22 0.15 0.23 0.06 0.01

CIOBMZ T 15 % R VLB AN D 7E200 8 4 N B o &y el 295 8500, 4l
WAEANDFEEALER 1T A iEm RN 15 2 KU EH2 B FREN
A A0 50 AR B R

CIDOM Z 15 15 2 UL RN PEEHLER 2 A8 2 A2 HHE BN R AR
B UL 0 NECR X3k X537 51 RS 2

(D& ZHFRE AR B2 g B m RS2 RE L b 32 208 4 BR 2 e
0 4F 6 4F 9 4F 12 4F (16 4F. i Z 1 15 ¥ KDL 5 ot w4 N 0 i F 3 %
A AFRIANA a 4FM 0 AF AKIER PR B BEES o 50 BIR/DNEER.
(S5 AN ZORIEND

(19) (A/NBL 15 43)

B ERE f() =24

x2—=1
CDHFEME y=F(OTEL 2, FORBIL R N —1,3K a BIH;
(I fCOTE +oo) FA B KRAE R o B9 BUE L FE.

ol
n
e
4%
i
=
e
o
=

REA R R L E TS o RBCE 2 U OB R (S R



(20) (A/NBL 15 43)

1 W [ .2 +y —1<a>b>o>éﬁ%lt\$ﬁ§,%ﬂﬁﬁ 2/3.

CIORMGE C 77
CIDad s PALOERERN b EHL L SR C 22T AL B P & 71858 (43

8o =03 AL 2R Q {6 A LB 2. i (g = | gl 7 #AE 1 K«

(AEL 5 7 ANAFAE - Ul B B

(21) (A /N 1549

WEH) Avarsas s va,n=2) MH a, € (1,2, .n} G=1,2,--,n), HY i7#; i,
a; 7a; (11, j<<n) , WIFR 55 A B P P X FREAE P A A, & LES
TCA tt1 oty oo sty For 1= {1’ B g ).

0, ap>ap

CIOXF T(A:0,1, 1, 5l A AR P s A
(IO XBSN Ezerversserve, s (n=2)  Hp e, € (0,1} G=1,2,.n— 1) EW A /ERA

PER P (%5 A fi15 T(A) 5 E R FE—A%051
(DO X B MR P MBS A E o —a, | =1(n=5) HEF TA) 2

0. @ MAEL,

G=1.,2,.n— 1) GEH X FERES] A H B
11, i wims !

i

(FEFZURERZEETIEFT L, BRELEEL)

BEHF %6 m(E6 )

AU B AL T - o RBCE 2 U OB R (S R



2022 tRE=&X—EiAETH

EREEFNLARSEEREET (2022 fRSEKE=—IRil@S&EE], BERPAAR
B XEARS, _RERBE [B=—&] — (&), AR sEiieif—EtEr
BR, WEARTHES!

EHEBRES—EHEHER, BEHFEEN!

Ll
1

& s

K
K

Q ItREE %iﬂ

- REERHA T

A HEEETH
EEEE—RitELEE

10
AEH
A

ERREE

-R=—#

“@ANER - BaER




	�
	2022北京高三各区一模试题下载


